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SUMMATIVE ASSESSMENT – II, 2012 

 II, 2012 

SOCIAL SCIENCE /    

Class – X / X 

 

Time allowed : 3 hours          Maximum 
Marks : 80 

 3                   

80 

 

General Instructions : 

(i) The question paper has 36 questions in all.  All questions are compulsory. 

(ii) Marks are indicated against each question. 

(iii) Questions from serial number 1 to 16 are Multiple Choice Questions. Each 

question carries one mark. 

(iv) Questions from serial number 17 to 29 are 3 marks questions. Answer of 

these questions should not exceed 80 words each. 

(v) Questions from serial number 30 to 34 are 4 marks questions. Answer of 

these questions should not exceed 100 words each. 

(vi) Question number 35 is a map question of 2 marks from History and 

Question number 36 is a map question of 3 marks from Geography only. 

After completion, attach both the maps inside your answer book. 

 

 

(i) 36  

(ii)  

(iii) 1 16 1  

(iv) 17 29 3 80 

 

(v) 30  34 4 120 

 

SS 2076 
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(vi) 35 2 36

3 

 

 
1. Which one of the following was the effect of the Act of the Union 1707 between 

England and Scotland ? 
(a) England was able to impose the influence on Scotland.   
(b) Scotland was able to impose its influence on England 
(c) The Scotish Highlanders were allowed to speak their language.  
(d) They were also allowed to wear their National dress. 

(1707)

(a)

(b)

(c)

(d)  

1 

 OR /   

 Which one of the following groups of countries comprises Indo-China ? 
(a) Vietnam, India and China (b) Laos, India and Vietnam 
(c) Vietnam, Laos and Combodia (d) Vietnam, China and Combodia 

(a) (b)

(c) (d)  

1 

   

2. In France, whose images were marked on coins and stamps during 1850s? 
(a) Germania (b) Marianne (c) Garibaldi (d) King Victor 

(a) (b) (c) (d)  

1 

 OR /   

 In which one of the following years, French troops landed in Vietnam? 
(a) 1856   (b) 1857  (c) 1858  (d) 1859 

(a) 1856   (b) 1857  (c) 1858  (d) 1859 

1 

   

3. Which one of the following methods was used by Mahatma Gandhi to fight the racist 
regime in South Africa? 
(a) Hunger strike   (b) Jail Bharo Andolan 
(c) Satyagraha    (d) Prayers 

(a) (b)

1 
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(c) (d)  

   

  
 
 

 

4. Which among the following names was being invoked to sanction all actions and 
aspirations in 1921? 
(a) Jawahar lal Nehru    (b) Mahatma Gandhi 
(c) Baba Ramchandra    (d) Kisan Sabha 

1921

(a) (b)

(c) (d)  

1 

   

5. Which one of the following states is the largest producer of 'Manganese' in India? 
(a) Karnataka    (b) Madhya Pradesh 
(c) Orissa    (d) Jharkhand 

(a) (b) (c) (d)  

1 

   

6. Which one of the following is the largest producers of copper in India? 
(a) Jharkhand   (b) Rajasthan 
(c) Madhya Pradesh  (d) Orissa 

(a) (b)   (c) (d)  

1 

   

7. Which one of the following industries is the largest contributor of Gross Domestics 
Production (GDP) in India? 
(a) Rubber (b) Jute  (c) Sugar  (d) Textile 

(a) (b) (c) (d)  

1 

   
8. Which one of the following National Highways is the longest in India? 

(a) NH – 1 (b) NH – 8 (c) NH – 7 (d) NH - 24 

(a) 1 (b) 8 (c) 7 (d) 24 

1 

   

9. What did the leaders of the movement in Nepal reject in April 2004 ? 
(a) Half hearted concessions made by the king 
(b) Democratic elections 
(c) Restoration of Parliament 
(d) Formation of an alliance 

2004

1 
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(a)

(b)

(c)

(d)  

   

10. To which one of the following Continents, Bolivia belongs ? 
(a) Africa     (b) Europe 
(c) South America   (d) Asia 

(a) (b)

(c) (d)  

1 

   

11. Under whose leadership was the Bahujan Samaj Party formed? 
(a) Mayavati    (b) Kashi Ram 
(c) Ambedkar    (d) Jagjivan Ram 

(a) (b)  (c) (d)  

1 

   

12. Which one of the following challenges does not come under ‘foundations of 
challenges’ ? 
(a) To bring down the existing non democratic government 
(b) Ensuring greater power to local government. 
(c) Keeping military away from controlling government 
(d) Establishing a sovereign and functional state. 

(a)

(b)

(c)

(d)  

1 

   

13. In a barter system  : 
(a) goods are exchanged for money. 
(b) goods are exchanged for foreign currency. 
(c) goods are exchanged without the use of money. 
(d) goods are exchanged on credit. 

(a)

(b)

(c)

(d)  

1 
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14. About what percentage of their deposits is kept as cash by the banks in India? 
(a) 25%  (b) 20%  (c) 15%  (d) 10% 

(a) 25%  (b) 20%  (c) 15%  (d) 10% 

1 

   

15. Removal of barriers set by the government is known as : 
(a) globalisation   (b) liberalisation 
(c) industrialisation   (d) privatisation 

(a) (b)

(c) (d)  

1 

   

16. In which one of the following years was the Right to Information Act implemented ? 
(a) 2004   (b) 2005  (c) 2006  (d) 2007 

(a) 2004   (b) 2005  (c) 2006  (d) 2007  

1 

   
17.  Who was Cavour? Explain his contributions to the unification of Italy. 

 

1+2=3 

 OR /   

17.  Explain any three conditions of the contract on the basis of which indentured labour 
worked. 

 

3x1=3 

   
18. What was the objective of Simon Commission? Why was it opposed in India ? 

 

2+1=3 

   

19. Mention any three iron ore belts in India. 3x1=3 

   

20. Why is iron and steel called a basic industry? Explain. 

 

3 

   

21. "Most of the Jute mills are located in West Bengal." Explain any three reasons for it. 

 

3x1=3 

   

22. Describe the main features of Bolivia's water war. 

 

3 

   

23. Why is democracy considered a better form of government? Give any three 3x1=3 
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arguments in favour of democracy. 

 
   

24. Explain the relationship between democracy and development. 

 

3 

   

25. How would you like to expand the definition of democracy? Explain. 

 

3 

   

26. Where do MNCs set up their production units? Explain. 

 

3 

   

27. What is globalisation? Explain. 

 

3 

   

28. Why are rules and regulations necessary in the market place? Explain . 

 

3x1=3 

   

29. List the information about goods and services which should be available under the 
Right to Information. 

 

4 

   
30. Why were the years of 1830s of great hard ship in Europe? Explain any four reasons. 

1830  

4x1=4 

 OR /   

  Why did US decide to intervene decisively in the internal dispute of Vietnam? 
Explain. 

 

4 

   
31. Explain the impact of Non-cooperation Movement in the economic field. 

 

4 

   
32. Classify roads into six classes according to their capacity. What is the role of National 

Highway Authoriting of India? 

 

3+1=4 

   

33. Describe any four functions of a political party. 

 

4x1=4 

   

34. What are 'Self-help Groups' ?  How do they work ? Explain. 1+3=4 
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35. Two features (A) and (B) are marked in the given outline political map of India. 
Identify these features with the help of the following information and write their 
correct names on the lines marked in the map. 
 
(A) The place of the Indian National Congress session, (September 1920) 
(B) Place of the Movement of Indigo planters 

(A) (B)

(A) 1920

(B)  

OR /  

Locate and label the following items with appropriate symbols on the same map. 
(1) Nagpur - The place where Congress session was held. 
(2) Kheda - Peasant Satyagraha 

(1)  

(2)   

Note : The following questions are for the BLIND CANDIDATES only, in lieu 
  of Q. No. 35. 
35.1 Name the place where movement of Indigo planters took place. 
35.2 Where was the Congress Session of September 1920 held? 

35

35.1  

35.2   1920 

2x1=2 
 
 
 
 
 
 
 
 
 
 
 
 
 

2x1=2 
 
 
 
 
 
 
 

2x1=2 
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36. Three features (A), (B) and (C) are marked in the given outline political map of India. 

Identify these features with the help of the following information and write their 
correct names on the lines marked in the map. 
A - A nuclear plant 
B - An Oil field 
C - An Iron ore mine 

A, B C 

3x1=3 
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A  - 

B  - 

C  - 
 

OR /  

Locate and label the following items on the same map with appropriate symbols; 
(i) SURAT - Cotton textile centre 
(ii) Hyderabad - Software technology park 
(iii) Haldia - A Sea port 

(I)  

(II)  

(III)  

Note : The following questions are for the BLIND CANDIDATES only in lieu 
  of Q. No. 36. 
(36.1) In which state in Surat situated ? 
(36.2) The fomous software technology Park of Hyderabad is situated in which state ? 
(36.3) Name the Iron ore mine of Karnataka. 

36 

36.1 

36.2  

36.3   

 
 
 
 
 
 

3x1=3 
 
 
 
 
 
 
 
 

3x1=3 
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